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Mo A

2,708,000
1,354,000
677,000
677,000

1,000,000

1,708,000

01 AlZHI
OQIOHKI7 SEAK SU/EXS FHIAI
2,698,522,000&

03 Al&S0HH
OXOIXI 7 SZAHK 2UAB XA HH|AFY
SOl 2,708,000, 0002+0. 35%

Mo A

2,698,522

2,698,522
1,354,000
677,000
667,522
9,478

9,478

993,700

6,300

1,704,822

3,178

s SZAK SUAZ X7 EHIAY

HH A

—_

,200,000
600,000
300,000
300,000

900,000

300,000

401 AIZHIZL 200

HoH A

—_

,200,000
600,000
300,000
300,000

900,000

300,000

01 AlZHI

e

,200,000

894,330

305,670
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SN QRSB
X

IR Toh L et =7 52 2
£l THOH I EH AL CEREERD
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
OSIAT ST SUS BN SHIAL
1,200,000,0002! 1,200,000
7 600,000
= 300,000
= 300,000
MEXT LN SATUIAY 4,300,000 2,784,000 1,516,000
2 2,150,000
= 1,075,000
= 1,075,000
AECEENT] 4,300,000 2,784,000 1,516,000
2 2,150,000
= 1,075,000
z 1,075,000
01 Al 4,300,000 2,784,000 1,516,000
OMEXI T B4HMER SSHHIAL
4,300,000,0002! 4,300,000
2 2,150,000
= 1,075,000
z 1,075,000
HEXT SAN ZURIENS BUAY 2,000,000 300,000 1,700,000
7 1,000,000
= 500,000
z 500,000
AECEET] 2,000,000 300,000 1,700,000
= 1,000,000
= 500,000
z 500,000
01 Al 1,993,000 300,000 1,693,000
Oale 2P SUISXY FH|A
1,993,000,000%! 1,993,000
= 1,000,000
= 500,000
z 493,000
03 Al CHYl 7,000 0 7,000
Oalel SPAK SUIBXY FHIA 2
Chal 2,000,000, 0002!+0. 35% 7,000
HIEXIT SZAK SUASAS FHIA 1,200,000 460,000 740,000
7 600,000
= 300,000
z 300,000
401 AIEHIL 2 0hY| 1,200,000 460,000 740,000
= 600,000
= 300,000
z 300,000
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SN HESE
33 Mol & Mt =72 =35 Fat
Chel: THOHOIZHALS CEEEN
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
01 Al2Hl 1,200,000 460,000 740,000
OUE SSAK SU/ASEXS A
1,200,000, 000 1,200,000
= 600,000
& 300,000
i 300,000
B2 NHMHAAE ML XA EHIAS 2,000,000 1,500,000 500,000
= 1,000,000
& 500,000
i 500,000
401 AIZHIZL S0 2,000,000 1,500,000 500,000
= 1,000,000
= 500,000
i 500,000
01 Al&H] 1,993,000 1,494,600 498,400
OXHATHHAIE ML X2 ZHI (HEXI )
1,993,000,000& 1,993,000
= 1,000,000
= 500,000
i 493,000
03 AIE S0 7,000 5,400 1,600
OXATHH A EMA XA EHI(HBX7) 2
] 2,000,000,000& 0. 35% 7,000
EA XS THOHRAEINE X7 EHEIAF 1,200,000 200,000 1,000,000
= 600,000
& 300,000
i 300,000
401 AIZHIZL S0 1,200,000 200,000 1,000,000
= 600,000
= 300,000
i 300,000
01 Al&H] 1,195,800 200,000 995,800
OStA MM IHL X ZHIAIE
1,195,800,000& 1,195,800
= 600,000
= 300,000
o 295,800
03 AIZ=0HI 4,200 0 4,200
O MHMHASNLX T HHIAE 20
] 1,200,000,000& 0. 35% 4,200
AISX 7 SZAK SUASAS ZHIA 200,000 0 200,000
= 100,000
& 50,000
[ 50,000
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ey RI¥SE==in]
M THAH L L BT s U
Chel: THOHOIZHALS CEEEN
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
401 A& HIL S 0HY] 200,000 0 200,000
P 100,000
[ 50,000
= 50,000
01 Al&Y] 200,000 0 200,000
OAIAXI T SHAX USRI HHIA
200,000,0002! 200,000
P 100,000
[ 50,000
= 50,000
ADIE AlE| 22 3,096,464 2,565,829 530,635
[ 173,632
= 2,622,832
cH 300,000
EECNEEN 858,644 569,206 289,438
[ 25,121
= 833,523
DIHESAY 362 X 35,887 35,887 0
[ 25,121
= 10,766
201 L2 35,887 35,887 0
[ 25,121
= 10,766
02 2224 35,887 35,887 0
ONNERSEY MEZ 35,887,0002 35,887
[ 25,121
= 10,766
HEEA 29 822,757 533,319 289,438
101 QI2AHI 28,782 28,782
04 JI2tHI22 RS2 28,782 28,782
OWEA22X} Q124 28,782
0o=a 76,9602 % 101x2492 19,164
== 76,9602 %101x522! 4,002
O RF=Et 76,9602 101x 112 847
0=2%= 24,089,000 %4, 5% 1,085
Ol fests: 1= 24,089,00024*3.545% 854
0 PE= 854,00024%12.81% 10
0UEZE= 24,089,000 *1.75% 422
M2 = 24,089,000 1% 241
0EIx2 68, 7412%121x302%99. 7% 2,057
201 LBHR29Y 416,275 364,219 52,056
01 AF22t2iH| 30,875 30,875 0
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SA: HMEZD
Hz: ADIE AIE| 22
Cel: MBEA S5} (chel: M)
SN B SL(3) - MBAY - BaS Ofl b Gl MimE=T!
BEREERENES
23,575,000 * 14! 23,575
ORISR 224 Hs=
9,000&+700% 6,300
OXBEO L HOINBESNE A2
1,000,0001% 13| 1,000
02 2Z2%Y| 385,400 333,344 52,056
O2zZR2 2 HMA 185,900
0YBtMst 2 Ma5|IME
15,000,000 * 122! 180,000
OHAKIRE CH|M5 HorAlER
90,0002 %103 900
0SSZALE X XY
500, 0002 *10JH A 5,000
OAEZH| S 199,500
0BESAIEHl S8 16,175,000 x 128 194,100
QAT SHAIRA SMHZ SXI22
450,000+ 122 5,400
206 M=l 4,100 4,100
01 HEH| 4,100 4,100
OX3P| 22 5,000 x4E+507} 1,000
OUEST 2= 3,100
ozilol= 100,00021*108tA 1,000
0Z ZHHHH 50,0002 * 1074 500
0HUH S B 30,00024+35* 104 900
== 1,0002* 1004 100
0MAZZEX 60,0002 *109H 600
405 KHAHEI S 373,600 145,000 228,600
01 XU SZF SH| 373,600 145,000 228,600
O3 P #EME| WAl
330, 00024+ 120CH 39,600
OLs ANE HEST Al DAl
3,800,00024* 10CH 38,000
OL= Al 26 HEYT AIX A
24,500,000 *2CH 49,000
OL& HE3 st nAl
23,500,000 *2CH 47,000
OLs NHHE AQIX WAl
154,000, 0002 * 14! 154,000
Othaloal YZ2ME 2 010|3 A
46,000,000 * 14! 46,000
ADIE AIEI =4 2,237,820 1,996,623 241,197
[ 148,511
= 1,789,309
o 300,000
WNEEE: 535,000 349,000 186,000
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C Y Eel>SE===n
NI AQIE AIE| 22
Sl ADIE AIE| &4 (Crof: M2l
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
401 AIEHI L2 0HY] 535,000 349,000 186,000
01 Al&H] 535,000 349,000 186,000
oorsgge eIV &X
8,000, 00024 *507H 2 400,000
OXtE =50CTV LA (5HA)
19,000, 00024 *5IH A 95,000
OCCTV Xt 2Iole =4
10,0004 +4,000m 40,000
CCTV ZHIAMIE! 29 1,240,328 1,127,623 112,705
[ 136,511
= 1,103,817
101 QI24H 473,938 457,290 16,648
[ 122,783
z 351,155
03 2RE(RI|HL)22XE 2 470,617 457,290 13,327
OCCTV2HHI® o1 24H| 470,617
0123 2,270,25024%1201x 122 326,916
[ 84,574
= 242 342
(OPSE= = 160, 00024 1201x 122 23,040
[ 5,800
z 17,240
E=Y 80,000+ 1201x 12 11,520
[ 3,093
z 8,427
0EEFIHI 2,270, 25024 1201%60%*23| 32,692
[ 8,457
z 24,235
ooRt=22+g 80,0081 *3Q1%50%+*3652! 43,805
[ 11,313
z 32,492
0 Xt 80,008+ 1201x 16! 15,362
[ 3,97
z 11,395
05YLLE 80,0082 +9%H x 150%+* 16 17,282
[ 5,579
z 11,703
M IIR2R2ISES 3,321 0 3,321
OZHA JI2HH 22X+ IAHH| 3,321
0olE= 76,9602 %101x252! 1,924
(ES=E=] 76,9602 % 101x52 365
oot 76,9602+ 101x50%+8 L 308
05e=2++g 76,9602 1Q1x 150%*4L! 462
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A oHEEZ
HI: ADIE ARl 22
C2l: ADIE AIE| =4 (crel: 22l
SN B SL(3) - MBAY - BaS Ofl b Gl MimE=T!
0201013 2,308,8002%4 . 5% 104
0HSEE 2,308,800 %3.545% 82
IRSEE 82,0002/%12.81% 1
0NE2LS 2,308,80021%0. %% 21
OMTHEE = 2,308,800 1% 24
201 L2 A 640,5% 557,983 82,612
[ 13,728
= 626,867
01 AlR2:2|H] 8,620 29,140 £20,520
Optag| 6,060
0J|2ALR 2 EH| 80,0002 * 120! 960
02AD| EL(E™) 225
500,00024*33] 1,500
0ZNHEH 23ES 500,000 *43] 2,000
2R 2= 100,00024%120! 1,200
DN 2HA/S| By
100,000 %40113] 400
OSSHI(ZHLUHLREA)
8,000 *401%80A! 2,560
02 2229 631,975 508,843 103,132
oz=2e=2 2 HAl 233,915
0ESEHICCTVSE2HIMIE ¢ MEEAR
88,0002 %130 A+ 122 13,728
[ 13,728
0LHHECCTV ME23HE
55,000242600H A% 122 171,600
ogHHECCTV D12
10,0002 %1907 A+ 122 22,800
022MIFI QIEYEIdE
16,5302 13074 Ax 122 25,787
OAEEHI R 398,060
0SEEHIME! AIAES SXI2e|H]
6,000,0002%101%122 72,000
0SEZHIME! AIAE S8 X B2
9,300,000 * 122 111,600
O SoIAIS N2 KXIBH|
80,00024*100CH* 122 96,000
OU-2=B13102H X224l
9,000+ 120H* 122 1,29
00IS2EE CCTV SXIE2H]
9,00024*600CH* 122 64,800
02| & (CTV |XI22H|
9,0002*51* 122 5,508
0020|2572 CCTV SXIE4H]
9,000+ 110CH+ 12 11,880
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2A:

.

FSk=s= i)}

AOLE AIEI 22l

el ADIE AIEl &4 (CHR: X 2)
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
0REUERID &Y KLt
16,00024+60CH* 122 11,520
OZtRIMIE; MAMA! UPS HHEI2| Al
17,000,000 17,000
FSUREAAAE 538,000 % 12& 6,456
202 OiH| 9,600 12,000 A2,400
ENGE 9,600 12,000 2,400
OB HILIE P R48H
200, 0002401128 9,600
206 XHEH| 6,000 6,000 0
01 XH2H] 6,000 6,000
OCCTV 2 8237 6,000
OPOE OFEHE 100, 0002 %207} 2,000
0&AE ML 150, 0002 207} 3,000
0= F XD 20,00024%20 74 400
0242 UTPAI0IZ 300m(BOX)
150,000 *4E+A 600
304 SI3RY2S 110,195 94,350 15,845
04 2RE(RI|HL) 22X LE2RY2 S 110,195 18,695 91,500
OCCTVZRIZ D8 L AATHSH BE2 293 12,943
01E=ZSH 470,617,000 %1.75% 8,236
0&HHEE 470,617,0002* 1% 4,707
OCCTVRHIZ 20IAHALES 223 18,822
0=2AL LS 470,617,0002%3.545% 16,684
0RIIRYEE 16,684,00024%12.81% 2,138
OCCTVRHHI® =013 243 78,430
0=2%= 470,617,000 %4 . 5% 21,178
(SRS =SS 4,771,0002%12¢1 57,252
ADIE AIE| =4 122,492 520,000 A\397,508
401 AlEH| 22 OHH 122,492 520,000 397,508
01 Al&H] 122,492 520,000 397,508
OR4E 22 QIHYY A=A
5,000,000 %2074 A 100,000
OZR2Y SHHAAIAE X 24H|
187, 43024 %201x23|x30 22,492
HEAE ASOHEHY N 2= 300,000 0 300,000
cH 300,000
401 AlEHI L2 0HH 300,000 0 300,000
cH 300,000
01 Al&H] 300,000 0 300,000
OXSAIZ AOHEFH 2= LA
22,000,000 22,000
cH 22,000
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2AM:

.

FSk=s= i)}

AOLE AIEI 22l

Er9l: ADIE AlE] X4 (choy: 242
SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
ORENT L LMl 7% 20|
278,000,000& 278,000
CH 278,000
X=sg cCv &xl XA 40,000 0 40,000
= 12,000
o 28,000
401 AlEHIY 40,000 0 40,000
= 12,000
= 28,000
01 Al&H| 40,000 0 40,000
OXsg CCTv Xl XI& At
40,000,000 40,000
& 12,000
= 28,000
HREs(erEA&) 700,000 340,000 360,000
LHEHeH K= 700,000 340,000 360,000
Met2e| D13 EE 700,000 340,000 360,000
02 013E=E2 700,000 340,000 360,000
01 JI=dE=3 700,000 340,000 360,000
Oonct2e|l12 d8E3 700,000,000 700,000
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